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(B/B)|E B AE |BIAF| E (W) || AF [BIAT| 2L | AF |PRAF| 2(b)
hER: | (cm) 145| 149 | A 04 15| 11.9|A 04 10| 114 A 04
(6/20) |[EREHD 24 24 0 25| 25 0 24 26| A 02
Jetan | aes| ws{aor | | 20| o1 | o] ms|ase |
(7/10) |EHBER/m) 295 213 38 %| 330 243 36 %| 388 274 42 %
FRERH 77 73| 04 81| 76| 05 85| 7.7 0.8
IS T I Y] B as| | | w1
(7/20) |ZEHER/m) 480 % 529 % 633 %
FRERH 9.7 9.9 10.1
T T ws| | | e
(7/30) |ZEHER/m) 518 % 592 % 717 %
FREH R 1.2 1.4 12.0
BEH(A0) 5/31| 5/30 1 5/31| 5/30 1 5/31] 5/30 1
BIEH(AR-8) 6/20[ 6/20 0 6/20| 6/20 0 6/20| 6/20 0
MIEMEBH (A 8) 7/27 8/5 8/17
HEH (A H) 8/15 8/27 8/27
FRIEFEZRMN (KR 13.0 14.3 15.2
B (K/m) 395 % 408 % 442 %
B&(em) 88.5 82.3 80.9
& (cm) 18.2 18.1 19.1
RAHA(A~8) 9/19 10/6 10/6
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